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sUseful information:

Speed of light, C =3.0x10° m/s
Planck’s const., h = 6.626x107* J.s
Avogadro’s No., Nay = 6.022x10% mol™
Rydberg const. for H atom Ry =2.18 x107* ]
Mass of the electron, m.=911x10" kg
Gas constant, R = 0.082 L atm K ' mol™
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Choose the correct answer

C-1 Which of the following is not a mixture?
a) Air b) Pepsi ¢) Vegetable salad

C-2 What is the SI unit for time?
a) Millisecond b) Second ¢) Minute

C-3 How many decimeters are there in 1.5 centimeters?
a) 150 dm b) 1.5 dm ¢) 0.15 dm

d) Sulfur

d) Hour

d) 15 dm

C-4 What is the symbol of the element that has 28 neutrons and a mass number of 51?

a) Ni b) Sb VvV

C-5 How many electrons are in 33Co**?
a) 86 b) 32 c)27

C-6 Which of the following elements is a metal?
a) Br b) Xe c) Co

C-7 Which two of the following pair of atoms are isotopes?
a) $scand v b) 30Ca and 29S¢ c) 33Scand 7Ti

C-8 Which three elements have similar chemical properties?
a) Al, Na, Ar b) Ti, Nb, W ¢)Na, K, Cs

C-9 Which of the following could be an empirical formula?
a) CH4 b} CsHm C) C4H3

C-10 An example of monatomic ion is
a) N b) NO," ¢)N

C-11 How many moles are in 9 g of carbon?
a) 0.5 mole b) 1 mole ¢) 1.33 mole

C-12 How many atoms are there in 5.4 g of nitrogen? )
a)232x10%atoms  b)6.18x 10® atoms  ¢) 2.47 x 10> atoms

d) Au

d)24

d)B

d) 5/Sc and 3Sc

d)N,O, F

d) C;H,

d) NO;!

d) 0.75 mole

d) 6.022 x 10> atoms
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C-13 Calculate the average atomic mass of silicon which consists of three stable isotopes: silicon-
28 (92.22%), silicon-29 (4.69%) and silicon-30 (3.09%) which have atomic masses of 27.98
amu, 28.98 amu and 29.97 amu respectively.

a) 27.67 amu b) 30.08 amu ¢) 28.09 amu d) 32.18 amu

C-14 What is the percent composition of sulfur in Al;(SO,);?
a) 20 % b) 40.4% ¢) 11.5% d) 28.1%

C-15 A compound is composed of 26.37% carbon, 3.30% hydrogen and 70.33% sulfur by mass.
Determine the empirical formula of this compound
a) C'._PHJS;_ b) CHS C) CHzS d) C3H53

C-16 The molar mass of the compound above found to be 182 g/mole. What is its molecular
formula?
a) Cf,HMSg b) C4Hbs4 C) CgHst d) C4H1(jS4

C-17 The process in which the concentration of solution is changed by adding more solvent is
called:
a) Chemical reaction  b) chemical symbol ¢) dilution d) mole

C-18 After balancing the following chemical equation:
a PCl; +b H,0 > ¢ H;PO; +d HCI
The sum of a, b, c and d (a+b+c+d) is:
a)8 b)6 c)5 d)7

C-19 How many grams of water is produced by burning 69 g of C;HsOH according to the
following equation:
2CHsOH +70; > 4C0; + 6 H,0
a)8lg b)27¢g c)20¢g d)40 g

C-20 The reaction of 10 g CaO with 7 g of CO; produced CaCOj according to the following

equation: Ca0 + CO; > CaCO;
The limiting reagent is:
a) CaO b) CO> ¢) Ca0 and CO; d) CaCOs

C-21 What is the excess reagent in the previous question (guestion 20)?
a) CaO b) CO, ¢) Ca0 and CO, d) CaCOs

C-22 What is the percent yield of CaCOjs in question (20) if 10 g of CaCO; are actually obtained?
a)62.9% b) 77 % c) 88 % d) 159%
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C-23 What mass of NaCl is needed to prepare 1 L of 0.3 M sodium ion solution?
a)17.55 g b)29.25 g ¢)555¢g d)234 g

C-24 What volume of 0.5M NaOH solution would you need to prepare 300 mL of 0.1 M NaOH
solution?
a) 600 mL b) 0.6 Ml ¢) 6 mL d) 60 mL

C-252 L of a 0.5 M NaCl solution is mixed with 3 L of 0.1 M NaCl. What is the concentration of
NaCl in the final solution?
) 0.36 M b)0.3 M ©)0.55M d)0.26 M

C-26 Calculate the density of silver metal with a mass of 55.8g and a volume of 5.32 cm’?
a) 10.49 g/mL b) 1049 g/mL ¢) 296.9 g/mL d) 0.01 g/mL

C-27 What is the chemical name of the formula SFg?
a) Sulfur fluoride b) Sulfur trifluoride c) Sulfur tetrafluoride  d) Sulfur hexafluoride

C-28 What is the correct formula of sodium sulfate?
a) NaSQ, b) Na3503 C) NaS d) N32804

C-29 The correct formula of a compound consists of P and Li is
a) LioP b) LiPs c) Li;P d) LiP

C-30 Which of the following is most likely to be good conductors of heat and electricity?
a) Br b)C ¢) Ni d)0
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